U Value 2007
[image: image1.emf]
Part A
	U Value  Table
	
	
	
	
	

	
	
	
	
	
	

	Element/Material
	Conductivity (K)
	Resistivity (1/K)
	Thickness (m)
	Resistance ( R )
	

	Ext. Surface R
	
	
	
	0.048
	

	Cavity R
	
	
	
	0.170
	

	Int. Surface R
	
	
	
	0.122
	

	Ext. Plaster
	0.43
	2.32558
	0.016
	0.037
	

	Block outer leaf
	1.44
	0.6944
	0.1
	0.069
	

	Block inner leaf
	1.44
	0.6944
	0.1
	0.069
	

	Int. Plaster
	0.43
	2.32558
	0.013
	0.030
	

	
	
	
	
	
	

	
	
	
	Total R
	0.545
	

	
	
	
	
	
	

	
	
	U Value
	1/Total R   =
	1.8348
	W/m² ºC


Part B
Calculate the rate of heat loss

Area (m.sq) x  Temp. diff  x  u value  =   w/sec  or  Joules / sec

145  X  13 X  1.8248  =  3,439.75 w/sec  or  Joules / sec

Use the Heating period    and    multiply by rate of heat loss

Heating period per annum

10  X  7  X  42 = 2,940
6o  x  6o  x  2,940   =  10,584,000  X  3,439.75  divided by 1000 to get Kw/KJ

=  36,406,314  Kj

1 litre of Oil   =  37,350 KJ
Therefore

36,406,314  divided by 37,350  =  no. of litre  =  974.73 Litres

  @ 0.68 cent / Litre =  € 662.82c  = annual heating cost
Part C
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